Annex 18


List voting system and largest remainder formula


The list voting system


		This is a form of proportional representation whereby the electorate votes for the candidates by 'list'.  A list may consist of any number of candidates up to the number of seats in the particular constituency.  Thus, a party contending (say) a five�seat constituency would put itself forward as a �five�candidate list�.  And an individual standing independently of a political party may contest the election as a �single candidate list.�


Voting procedure


2.		An elector may only vote for one of the lists of candidates.


The "largest remainder formula"


3.		This is a counting method, whereby each list receives a seat for every �Hare quota� of votes received.  The Hare quota is the total number of valid votes cast divided by the total number of seats in the constituency.  Any remaining seats are then awarded to the lists with the largest number of remaining votes.


4.		This means that only lists that receive at least one - �Hare quota� - of votes are allocated seats in the first court.  A list that received two Hare quotes would win two seats on that count.  Any remaining seats are then awarded to the lists with the largest number of votes remaining after the hare quotes have been subtracted from the vote count of the lists that won seats in the first round.  The quota is not deducted from the votes received by lists that did not win seats in the first round.


�
5.		To illustrate, suppose there are five lists in a five-member constituency with a total of 300,000 valid votes cast.


The Hare quota is�
300,000


    5�
= 60,000.�
�



		The allocation of seats will run as follows :


Lists of candidates�
Votes


received�
Initial allocation�of seats�
Remaining Vote�
Allocation of�remaining seats�
Final seat allocation�
�
A�
99,000�
1�
39,000�
1�
2�
�
B�
69,000�
1�
9,000�
0�
1�
�
C�
63,000�
1�
3,000�
0�
1�
�
D�
51,000�
0�
51,000�
1�
1�
�
E�
18,000�
0�
18,000�
0�
0�
�



List A will get two seats, which will go to the first two candidates on the list.  List B, List C and List D will each get a set, which will go to the first candidate on the respective Lists.





�PAGE  �








�PAGE  �2�








�page  �16�














